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Prediction S = PG/4mR?
Where: S = Power density
P = Power input of antenna
G = Power gain of the antenna relativ to an isotropic radiator
R = Distance to the center of radiation of the antenna
Maximum output power: P = 9419 mW X
Antenna gain: G = 2138 X
Prediction distance: R = 20cm
Power density at 20 cm: S = 0.4010 mW/cm?
Limit Sim = 0.60983 mW/cm?
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Prediction 5: S = PG/4mR?
Where: S = Power density
P = Power input of antenna
G = Power gain of the antenna relativ to an isotropic radiator
R = Distance to the center of radiation of the antenna
Maximum output power: P = 9419 mW X
Antenna gain: G = 398 X
Prediction distance: R = 30cm
Power density at 30 cm: S = 0.3316 mW/cm?
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0.60983 mW/cm?




